
2019(Odd)
16504

Time : 3Hrs. Sem. V - C (R)

Hyd. & Irrigation Engg.

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Calculate the irrigation interval on the basis of the

following given data.

(i) Field capacity of soil = 22%

(ii) Permanent wilting point = 12%

(iii) Readily soil noisture: 50% of available, moisture
3 (iv) Soil density =1.5g/cm

(v) Effective depth of root zone =100cm

(vi) Daily consumptive use of water for crop =25mm.

***

                                   OR
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        The gross irrigation requirement is equal to:

(a) Field irrigation requirement + water losses

      due to conveyance

(b) Field irrigation requirement - water losses

      due to conveyance 

(c) Field irrigation requirement

(d) Total water losses due to conveyance.

Layout of subchak comes under:

(a) Water planning

(b) Plant planning

(c) Irrigation planning

(d) Land planning
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(a) Effective rainfall

(b) Net irrigation requirement

(c) Gross irrigation requirement

(d) Wilting point

11.

OR

8

3 16504
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(iii)

(iii)

(iv)

(ii)

In steep topography, the best method of 

irrigation.

(a) Furrow method

(b) Sprinkler method

(c) Border method

(d) None of these

Salinity in irrigation water is measured by:

(a)  pH valve 

(b)  SAR valve

(c)  Electrical conductivity valve

(d)  None of the above
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10.

(a) 

Explain the construction and working of a venturi 

- meter with a neat sketch.

Most economical rectangular channel is discharging

water at the rate of 15 cumecs with a velocity 2.5

m/s. Design the channel, if the chezy's constant =70

'super passage' for cross drainage work.

9.

OR

8

8
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(v)

(v)

(vi)

(iv)

By adopting farmers participation in irrigation
water management:
(a) Distribution of irrigation water becomes
      easy
(b) Distribution of irrigation water becomes
      difficult
(c) Distribution of irrigation water is stopped
(d) None of these

With the help of water course, water is 
reached to:
(a) Field
(b) Canal
(c) Dam
(d) Spillway
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Basin flooding is special form of :

(a) Sprinkler irrigation method

(b) Check flooding method

(c) Furrow method of irrigation

(d) None of these

When the canal bed is lower than river bed,

the structure constructed is called:

(a) Super passage

(b) Level crossing

(c) Canal syphon

(d) All of the above

(vii)

(vii)

(viii)

(vi)
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section to be most economical.

practical benefits of hydraulic jump.

      in brief.

(b) Write any four objective of irrigation water

      management.

8.

8

OR

OR
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Land consolidation and proper layout will:

(a) Increase yield production

(b) Decrease yield production

(c) Produce no effect on yield production

(d) None of these

Land reclamation  process is:

(a) Cheaper

(b) Very cheaper

(c) Very costly

(d) Costly

(ix)

(ix)

(x)

(viii)
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Answer all Five Questions. 
8 x 5  = 40

7.

OR

A right angled triangular notch is discharging water

under a constant head of 300mm. What will be the

discharge, if cd for the notch is 0.61.8



7 16504

P.T.O

Loss due to friction is treated as:

(a) Minor loss

(b) Major loss

(c) Moderate loss

(d) Minimum loss

Property of fluid by which its own molecule

are attracted is called:

(a) Viscosity

(b) Adhesion

(c) Cohesion

(d) Surface tension

(xi)

(xi)

(xii)

(x)
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Define manometer. Write the different type of 

manometers

coefficient of velocity.

State limitation of Bernulli's theorem.

water under a constant head of 9m. Find the 

discharge in litre /sec. If the mouth piece is running

full.

OR

5.

6.

4

4

OR
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The point at which the resultant pressure on an
immersed surface acts is known as:
(a) Centre of gravity
(b) Centre of depth
(c) Centre of pressure
(d) Centre of immersed surface

The unit of viscosity is :
2 (a) Meter per sec.

(b) Kg- sec / meter
2 (c) Newton - sec per meter

(d) Newton -sec per meter

(xiii)

(xiii)

(xiv)

(xii)
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4

4.
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3.

OR

Define the following terms:

(a) Field capacity

(b) Consumptive use

method.

pressure.

4

OR
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A flow in which the viscosity of fluid is 

dominating over the inertia force is called:

(a) Steady flow

(b) Unsteady flow

(c) Laminar flow

(d) Turbulent flow

The most efficient section of a channel is :

(a) Triangular

(b) Rectangular

(c) Square

(d) Trapezoidal

(xv)

(xv)

(xvi)

(xiv)

OT50161216504

Answer all Five Questions. 

2.

4 x 5 = 20

Explain the effect of salinity and alkalinity on 

irrigation water.
4                     

(xx)

OT5016
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One stoke is equal to:
-22

(a) 10 m/s
-32

(b) 10 m/s
-42

(c) 10 m/s
-62

(d) 10 m/s

The product of mass and acceleration of 

flowing liquid is called:

(a) Inertia force

(b) Viscous force

(c)  Gravity force

(d) Pressure force

(xvii)

(xvii)

(xviii)

(xvi)
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Bazin's formula is used to determine:

(a) Bed slope of the channel

(b) Side slope of  a trapezoidal channel

(c)  Chezy's constant

(d) None of these

The flow in which conditions do not change

with time at any point, is known as:

(a)  One dimensional flow

(b) Uniform flow

(c) Steady flow

(d) Turbulent flow

(xviii)

(xix)

(xx)

(xix)

OT5016
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